
 S1 
 

Supporting Information 

Hot Water Promoted Ring-opening of Epoxides and Aziridines 

by Water and Other Nucleopliles 

Zhi Wang, Yong-Tao Cui, Zhao-Bing Xu, Jin Qu* 

The State Key Laboratory of Elemento-Organic Chemistry, 

 Nankai University, Tianjin 300071, P. R. China 

Fax: +86-(022)-23499247 and E-mail: qujin@nankai.edu.cn  

Table of Contents 

General...........................................................................................................................................S2 

Analytical data for compounds in table 2 ...................................................................................S2 

Analytical data for compounds in table 3 ...................................................................................S8 

Analytical data for compounds in table 4 .................................................................................S10 

Analytical data for compounds in scheme 3 .............................................................................S13 

Analytical data for compounds in scheme 4 .............................................................................S13 

References ....................................................................................................................................S14 

1H NMR and 13C NMR spectra of compounds in table 2 ........................................................S16 

1H NMR and 13C NMR spectra of compounds in table 3 ........................................................S35 

1H NMR and 13C NMR spectra of compounds in table 4 ........................................................S40 

1H NMR and 13C NMR spectra of compounds in scheme 3 ....................................................S46 

1H NMR and 13C NMR spectra of compounds in scheme 4 ....................................................S50 



 S2 
 

General: 1H NMR and 13C NMR spectra were recorded in CDCl3, D2O, and 

d6-DMSO on 600 MHz, 400 MHz and 300 MHz. Chemical shift in ppm derived from 

TMS with the solvent as the internal indicator. GC analysis was recorded using Rtx-5 

column. Flash column chromatography was performed using petroleum ether and 

ethyl acetate as solvent on silica gel (200-300 mesh). All of the organic solvents and 

reagents were purified according to the literature report; All of the reactions were 

carried out in the open air. 

Analytical data for compounds in table 2 

1-Phenyl-1, 2-ethanediol:1 

OH
OH

Table 2 - Entry 1  

1H NMR (400 MHz, CDCl3) δ 7.31–7.37 (m, 5H), 4.83 (dd, J = 3.2, 8.0 Hz, 1H), 3.76 

(dd, J = 3.0, 11.4 Hz, 1H), 3.66 (dd, J = 8.2, 11.1 Hz, 1H), 2.69 (brs, 1H), 2.27 (brs, 

1H); 13C NMR (100 MHz, CDCl3) δ 140.34, 128.36, 127.77, 126.00, 74.63, 67.88.  

1-Phenyl-1,2-propanediol( 60:40 mixture of diastereomers threo:erythro):2 

Table 2 - Entry 2

OH

OH
 

1H NMR (400 MHz, CDCl3) δ 7.31–7.36 (m, 5 H)，4.67 (d, J =4.0 Hz. 0.4 H), 4.34 (d, 

J = 7.1 Hz, 0.6 H), .3.99 (brs, 0.4 H), 3.81–3.87 (m, 0.6 H), 2.93–3.00 (br, 0.6H), 

2.70–2.81 (br, 1H), 2.15–2.20 (br, 0.4H), 1.06 (d, J= 6.4 Hz, 1.2H), 1.04 (d, J = 6.3 

Hz, 1.8 H); 13C NMR (100 MHz, CDCl3) δ 141.36 (threo), 140.68 (erythro), 128.65 

(threo), 128.43(erythro), 128.22 (threo), 127.77 (erythro), 127.21 (threo), 126.85 



 S3 
 

(erythro), 79.72 (threo), 77.41 (erythro), 72.40 (threo), 71.61 (erythro), 18.99 (threo), 

16.85 (erythro). 

2-Phenyl-1, 2-propanediol:1 

Table 2 - Entry 3

OH
OH

 

1H NMR (400 MHz, CDCl3) 　δ 7.17–7.37 (m, 5H), 3.67 (d, J = 11.2 Hz, 1H), 3.52 

(d, J = 11.2 Hz, 1H), 2.87 (br, 1H), 2.31 (br, 1H), 1.43 (s, 3H); 13C NMR (100 MHz, 

CDCl3) δ 144.96, 128.05, 126.78, 124.95, 74.73, 70.46, 25.68. 

Indane-1,2 -diol (trans:cis 25:75):3 

Table 2 - Entry 4

OH

OH

 

1H NMR (400 MHz, d6–DMSO) δ 7.14–7.31 (m, 4H), 5.37 (d, J = 6.1 Hz, 0.25H), 

5.16 (d, J = 4.8 Hz, 0.25H), 4.98 (d, J = 6.6 Hz, 0.75H), 4.78 (t, J = 5.5 Hz, 0.75H), 

4.69 (t, J = 5.6 Hz, 0.25H), 4.56 (d, J = 4.5, 0.75H), 4.23–4.28 (m, 0.75H), 

4.05–4.11(m, 0.25H), 3.07(dd, J = 7.1, 15.5 Hz, 0.25H), 2.92 (dd, J = 5.5, 15.8 Hz, 

0.75H), 2.76 (dd, J = 3.6, 15.8 Hz, 0.75H), 2.59 (dd, J = 7.0, 15.5 Hz, 0.25H); 13C 

NMR (100 MHz, d6–DMSO) δ 144.67, 144.47, 141.13, 140.00, 128.20, 128.10, 

127.02, 126.86, 125.39, 125.35, 125.11, 124.81, 81.25, 80.64, 75.66, 73.48, 38.87, 

38.64. 

1-phenyl-cyclohexane-1, 2-diol (trans:cis 25:75):4, 1  



 S4 
 

Table 2 - Entry 5

HO
HO

 

1H NMR (400 MHz, d6-DMSO,) δ 7.76 (t, J = 7.8 Hz, 2H), 7.14–7.30 (m, 3H), 4.73 

(d, J = 3.1 Hz, 0.25H), 4.36 (d, J = 0.9 Hz, 0.75H), 4.22 (dd, J = 1.8, 4.6 Hz, 0.25H), 

4.13 (dd, J = 3.3, 6.7 Hz, 0.75H), 3.71–3.77 (m, 0.75 H), 3.50 (brs, 0.25H), 2.20–2.26 

(m, 0.25 H), 1.97–2.03 (m, 0.25 H), 1.59–1.66 (m, 5H), 1.24–1.50 (m, 2.5H); 13C 

NMR (100 MHz, CDCl3) δ 146.37, 145.82, 128.10, 127.29, 126.66, 126.05, 125.01, 

75.62, 74.31, 74.21, 73.09, 38.36, 31.26, 29.09, 28.33, 24.20, 20.92, 20.87, 19.14.   

1-phenyl-propane-1, 2, 3-triol (threo:erythro 55:45):5 

Table 2 - Entry 6

OH

OH

OH

 

1H NMR (400 MHz, D2O) δ 7.30–7.34 (m, 5H), 4.58 (t, J = 7.0 Hz, 1H), 3.76–3.86 

(m, 1H), 3.71 (dd, J = 1.8, 11.8 Hz, 0.45H), 3.54 (dd, J = 6.9, 11.8 Hz, 0.45H), 3.42 

(dd, J = 2.3, 11.8 Hz, 0.55H), 3.31 (dd, J = 6.9, 11.7 Hz, 0.55H); 13C NMR (100 MHz, 

D2O) δ 140.44, 140.38, 128.63, 128.53, 128.12, 127.10, 126.71, 75.43, 74.65, 74.13, 

73.95, 62.58, 62.46.  

2-Chloro-propan-1, 2-diol:6 

Table 2 - Entry 7

Cl OH
OH

 

1H NMR (400 MHz, CDCl3) δ 3.94 (s, 1H), 3.77-3.80 (m, 1H), 3.59–3.70 (m, 3H), 

2.63 (brs, 1H), 2.05 (brs, 1H); 13C NMR (100 MHz, CDCl3) δ 71.74, 63.57, 45.56.  

1-O-Butylglycerol:7 



 S5 
 

Table 2 - Entry 8

O
OH

OH

 

1H NMR (400 MHz, CDCl3) δ 3.83–3.87 (m, 1 H), 3.68–3.70 (m, 1 H), 3.61–3.68 (m, 

1 H), 3.44-3.52 (m, 4 H), 2.86–2.88 (br, 1 H), 2.51–2.52 (br,1 H), 1.51–1.59 (m, 2 H), 

1.31–1.40 (m, 2 H), 0.91 (t, J = 7.3 Hz, 3 H); 13C NMR (100 MHz, CDCl3) δ 71.83, 

71.14, 70.61, 63.76, 31.32, 18.94, 13.62.   

1, 2, 11-Undecanetriol:8 

Table 2 - Entry 9OH

OH
OH

 

1H NMR (400 MHz, d6-DMSO) δ 4.43 (t, J = 5.5 Hz, 1H), 4.34–4.35 (m, 2H), 

3.36–3.39 (m, 3H), 3.20–3.26 (m, 2H), 1.38–1.39 (m, 4H), 1.16–1.32 (brs, 12H); 13C 

NMR (100 MHz, d6-DMSO) δ 71.66, 66.56, 61.30, 33.95, 33.11, 29.88, 29.68, 29.56, 

26.09, 25.75.  

3, 7-dimethyl-1,6,7-otanetriol:9 

Table 2 - Entry 10

OH
OH

OH
 

1H NMR (400 MHz, CDCl3) δ 3.62–3.79 (m, 2H), 3.34 (t, J = 10.6 Hz, 1H), 

1.86–2.60 (brs, 2 H), 1.58–1.67 (m, 4H), 1.38–1.50(m, 4H), 1.21 (s, 3 H), 1.16 (s, 3H), 

0.90–0.93 (m, 3H); 13C NMR (100 MHz, CDCl3) δ 78.72, 77.88, 73.04, 60.05, 60.02, 

39.57, 39.24, 33.80, 33.19, 29.50, 28.92, 28.51, 28.15, 26.06, 25.98, 23.10, 23.08, 

19.72, 19.31.  

6, 7-Dihydroxy-3, 7-dimethyloctyl acetate:10 



 S6 
 

Table 2 - Entry 11

OAc

OH

OH
 

1H NMR (400 MHz, CDCl3) δ 4.04–4.15 (m, 2H), 3.31 (dd, J = 4.9, 9.8 Hz, 1H), 2.30 

(br, 2H), 2.03 (s, 3H), 1.37–1.67 (m, 7H), 1.20 (s, 3H), 1.14 (s, 3H), 0.91 (dd, J = 4.4, 

6.2 Hz, 3H); 13C NMR (100 MHz, CDCl3) δ 171.03, 78.42, 78.14, 72.76, 62.61, 35.22, 

34.85, 33.80, 33.56, 29.59, 29.36, 28.60, 28.43, 25.98, 22.82, 20.63, 19.22, 18.92. 

Butane-1, 2, 3, 4-tetraol:11 

Table 2 - Entry 12

HO
OH

OH

OH
 

1H NMR (400 MHz, D2O) δ 3.64–3.66 (m, 4H), 3.55– 3.60 (m, 2H); 13C NMR (100 

MHz, D2O) δ 71.74, 62.79. 

Butane-1, 2, 3-triol:12 

Table 2 - Entry 13

OH

OH

OH

 

1H NMR (400 MHz, D2O) δ 3.69–3.75 (m, 1H), 3.63–3.66 (m, 1H), 3.45–3.53 (m, 

2H), 1.10 (d, J = 6.4 Hz, 3H); 13C NMR (100 MHz, D2O) δ 75.59, 67.99, 62.70, 

17.53.  

Glycerin 

Table 2 - Entry 14

HO OH
OH

 

1H NMR (400 MHz, D2O) δ 3.64–3.68 (m, 1H), 3.54 (dd, J = 4.3, 11.7 Hz, 2H), 3.44 



 S7 
 

(dd, J = 6.5, 11.7 Hz, 2H); 13C NMR (100 MHz, D2O) δ 72.08, 62.51. 

trans-1,2-Cyclopentanediol:13 

Table 2 - Entry 15

OH

OH

 

1H NMR (400 MHz, CDCl3) δ 4.01–4.03 (m, 2H), 1.99–2.06 (m, 2H), 1.71–1.78 (m, 

4H), 1.53–1.64 (m, 2H); 13C NMR (100 MHz, CDCl3): δ 78.81, 30.97, 19.49.   

trans-1,2-Cyclohexanediol:4 

Table 2 - Entry 16

OH

OH

 

1H NMR (400 MHz, CDCl3) δ 3.36–3.37 (m, 2H), 2.31 (br, 2H), 1.97–1.99 (m, 2H), 

1.67–1.71 (m, 2H), 1.27–1.28 (m, 2H); 13C NMR (100 MHz, CDCl3): δ 75.47, 32.80, 

24.27.  

(1S,2S,4R)-1-methyl-4-(prop-1-en-2-yl)cyclohexane-1,2-diol14  

Table 2 - Entry 17

OH
OH

 

1H NMR (600 MHz, CDCl3) δ 4.73 (s, 2H), 3.63 (s, 1H), 2.23–2.27 (m, 2H), 1.93 (t, J 

= 12.5 Hz, 1H), 1.82 (brs, 1H), 1.73 (s, 3H), 1.64–1.68 (m, 1H), 1.52–1.56 (m, 3H), 

1.26 (s, 3H); 13C NMR (150 MHz, CDCl3) δ 149.13, 108.97, 73.72, 71.43, 37.39, 

33.84, 33.61, 26.35, 26.05, 21.06.  

trans-2, 3-Dihydroxy-cyclohexanone15 



 S8 
 

Table 2 - Entry 18

O

OH

OH

 

1H NMR (400 MHz, D2O) δ 4.14 (d, J = 9.6 Hz, 1H), 3.56–3.62 (m, 1H), 2.42–2.51 

(m, 1H), 2.34–2.38 (m, 1H), 2.09–2.12 (m, 1H), 1.95–1.99 (m, 1H), 1.69–1.79 (m, 

1H), 1.40–1.50 (m, 1H); 13C NMR (100 MHz, D2O) δ 212.36, 81.21, 75.43, 39.17, 

31.70, 20.47. 

Analytical data for compounds in table 3 

2-(N-Tosylamino)-1-phenyl-1-ethanol16 

Table 3 - Entry 1

OH
H
N

Ts

 

1HNMR (400 MHz, CDCl3) δ 7.69 (d, J = 8.0 Hz, 2H), 7.23–7.25 (m, 7H), 5.68 (s, 

1H), 4.76 (dd, J =2.4, 8.4 Hz, 1H), 3.48 (brs, 1H), 3.14–3.17 (m, 1H), 2.94–3.00 (m, 

1H), 2.37 (s, 3H); 13C NMR (100 MHz, CDCl3) δ 143.40, 140.76, 136.48, 129.65, 

128.39, 127.89, 126.94, 125.78, 72.58, 50.18, 21.39. 

1-(Tosylamino)-2-hexanol (70%) and 2-(Tosylamino)-1- hexanol (30%)17 

Table 3 - Entry 2

OH
HN

N
H

OH

Ts

Ts

 

1H NMR (400 MHz, CDCl3) δ 7.77 (d, J = 8.0 Hz, 2H), 7.30 (d, J = 8.0 Hz, 2H), 5.10 

(t, J = 4.8 Hz, 0.3H), 4.90 (d, J = 7.6 Hz, 0.7H), 3.65–3.69 (m, 0.3H), 3.56 (dd, J = 

4.0, 11.2 Hz, 0.7H), 3.47(dd, J = 5.6, 11.2 Hz, 0.7H), 3.18–3.23 (m, 0.7H), 3.04–3.10 



 S9 
 

(m, 0.3H), 2.74–2.80 (m, 0.3H), 2.42 (s, 3H), 2.21 (brs, 1H), 1.20-1.45 (m, 3H), 

0.95-1.18 (m, 3H), 0.87 (t, J = 6.8 Hz, 0.9H), 0.74 (t, J = 6.8 Hz, 2.1H); 13C NMR 

(400 MHz, CDCl3) δ 143.05, 142.99, 137.57, 136.47, 129.42, 129.32, 126.79, 70.14, 

64.30, 55.32, 48.48, 33.84, 30.88, 27.39, 27.24, 22.26, 21.97, 21.16, 13.67, 13.50. 

trans- 2-(N-Tosylamino)-1-cyclohexanol18 

Table 3 - Entry 3

OH

N
H

Ts

 

1H NMR (400 MHz, CDCl3) δ 7.80 (d, J = 8.4 Hz, 2H), 7.30 (d, J = 8.0 Hz, 2H), 5.32 

(d, J = 6.4 Hz, 1H), 3.28–3.33 (m, 1H), 2.81–2.92 (m, 2H), 2.42 (s, 3H), 1.98–2.00 (m, 

1H), 1.50–1.73 (m, 3H), 1.05–1.30 (m, 4H); 13C NMR (100 MHz, CDCl3) δ 143.19, 

137.54, 129.52, 126.89, 126.79, 72.81, 59.46, 33.17, 31.35, 24.43, 23.65, 21.32. 

trans- 2-(N-Tosylamino)-1-cyclopentanol19 

Table 3 - Entry 4

OH

N
H

Ts

 

1H NMR (400 MHz, CDCl3)  δ 7.79 (d, J = 7.6 Hz, 2H), 7.28 (d, J = 8.0 Hz, 2H), 

5.99 (d, J = 6.0 Hz, 1H), 4.02–4.04 (m, 1H), 3.60 (brs, 1H), 3.24–3.28 (m, 1H), 2.39 

(s, 3H), 1.86–1.93 (m, 1H), 1.75–1.81 (m, 1H), 1.44–1.56 (m, 3H), 1.33–1.37 (m, 1H); 

13C NMR (100 MHz, CDCl3) δ 143.19, 136.77, 129.45, 126.86, 77.54, 61.37, 30.80, 

29.43, 21.21, 19.54. 

trans- 2-(N-Phenylcarbonylamino)-1-cyclohexanol20 



 S10 
 

Table 3 - Entry 5

OH

N
H

Bz

 

1H NMR (400 MHz, CDCl3) δ 7.77 (d, J = 7.6 Hz, 2H) 7.39–7.51 (m, 3H), 6.33 (s, 

1H), 3.81–3.83 (m, 1H), 3.68 (brs, 1H), 3.38–3.44 (m, 1H), 2.00–2.20 (m, 2H), 

1.60–1.82 (m, 2H), 1.10–1.50 (m, 4H); 13C NMR (100 MHz, CDCl3) δ 169.03, 134.17, 

131.56, 128.45, 127.09, 74.84, 56.18, 34.49, 31.55, 24.53, 24.01. 

Analytical data for compounds in table 4 

2-Phenyl-2-(phenylamino)ethanol21 

Table 4 - Entry 1

HN
Ph

OH

 

1HNMR(600 MHz, CDCl3) δ 7.22–7.33 (m, 5H), 7.08 (t, J = 7.9 Hz, 2H), 6.67 (t, J = 

7.9 Hz, 1H), 6.54 (d, J = 8.0 Hz, 2H), 4.45 (dd, J = 4.2, 6.9 Hz, 1H), 3.86 (dd, J = 4.2, 

11.1 Hz, 1H), 3.67 (dd, J = 7.1, 11.1 Hz, 1H); 13C NMR (150MHz, CDCl3) δ 147.18, 

140.07, 129.08, 128.71, 127.49, 126.66, 117.80, 113.79, 67.20, 59.77.  

2-Azido-2-phenylethanol22 

Table 4 - Entry 2

N3

OH

 

1HNMR(600 MHz, CDCl3) δ 7.30–7.42 (m, 5 H), 4.65 (t, J = 6.6 Hz, 1 H), 3.74 (d, J 

= 6.7 Hz , 2 H), 2.31 (brs, 1 H); 13C NMR (150MHz, CDCl3) δ 136.28, 128.88, 

128.65, 127.12, 67.80, 66.39. 



 S11 
 

2-(Phenylamino)cyclohexanol23 

Table 4 - Entry 3

OH

N
H

Ph

 

1H-NMR (400 MHz, CDCl3) δ 7.20–7.16 (m, 2 H), 6.77–6.71 (m, 3H), 3.35 (td, J =  

4.2, 9.7 Hz,1 H), 3.15 (ddd, J = 4.0, 9.2, 11.1 Hz, 1 H), 2.91–2.51 (m, 1 H), 2.14–2.10 

(m, 2 H ), 1.80–1.70 (m, 2 H), 1.42–1.25(m, 3H), 1.10–1.00(m, 1H). 

2-Azidocyclohexanol24 

Table 4 - Entry 4

OH

N3

 

1H-NMR (400 MHz, CDCl3) δ 3.42–3.35 (m, 1H), 3.22–3.15 (m, 1H), 2.52 (s, 1H), 

2.07–2.00 (m, 2H), 1.78–1.72 (m, 2H), 1.36–1.19 (m, 4H). 

4-Methyl-N-(2-(phenylamino)cyclohexyl)benzenesulfonamide25 

Table 4 - Entry 5

H
N

N
H

Ts

Ph

 

1H NMR(600 MHz, CDCl3) δ 7.74 (d, J = 8.1 Hz, 2H), 7.26 (d, J = 7.9 Hz, 2H), 7.12 

(t, J = 7.9 Hz, 2H), 6.69 (t, J = 7.3 Hz, 1H), 6.47 (d, J = 7.8 Hz, 2H), 5.11 (brs, 1H), 

3.48 (brs, 1H), 3.05 (m, 1H), 2.93 (m, 1H), 2.43 (s, 3H), 2.16 (m, 1H), 1.98 (m, IH), 

1.63 (m. 2H), 1.25 (m, 3H), 1.02 (m, 1H); 13C NMR (150MHz, CDCl3) δ 147.00, 

143.35, 137.46, 129.65, 129.29, 127.08, 117.67, 113.39, 56.96, 56.42, 32.86, 32.01, 

24.33, 24.01, 21.49. 

N-(2-Azidocyclohexyl)-4-methylbenzenesulfonamide26 



 S12 
 

Table 4 - Entry 6

H
N

N3

Ts

 

1HNMR (600 MHz, CDCl3) δ 7.79 (d, J = 8.4 Hz, 2 H), 7.31 (d, J = 8.4 Hz, 2 H) 5.33 

(brs, 1 H), 3.09–3.11 (m, 1 H), 2.95–2.98 (m, 1 H), 2.43 (s, 3 H), 1.97–2.02 ( m, 2 H), 

1.60–1.69 ( m, 2H), 1.18–1.40 (m, 4 H); 13C NMR (150MHz, CDCl3) δ 143.35, 

137.59, 129.58, 127.03, 63.53, 56.67, 32.30, 30.17, 23.76, 23.49, 12.47. 

N-(2-(Benzylamino)cyclohexyl)-4-methylbenzenesulfonamide27 

Table 4 - Entry 8

H
N

N
H

Ts

Ph

 

1H NMR (600 MHz, CDCl3) δ 7.72 (d, J = 8.2 Hz, 2H) , 7.35–7.19 (m, 7H), 3.74 (d, J 

= 13.0 Hz, 1H), 3.56 (d, J = 13.0 Hz, 1H), 2.68 (td, J = 4.4, 9.9Hz, 1H), 2.37 (s, 3H), 

2.24 (td, J = 3.7, 10.7Hz, 1H), 2.15–2.09 (m, 2H), 1.68–1.61 (m, 2H), 1.25–1.13 (m, 

4H), 1.04–0.95 (m, 2H); 13C NMR (150 MHz, CDCl3) δ 143.10, 140.16, 137.45, 

129.51, 128.41, 127.94, 127.19, 127.01, 59.78, 57.56, 50.10, 32.82, 31.33, 24.67, 

24.46, 21.44. 

N-(2-Phenylthiocyclohexyl)-4-methylbenzenesulfonamide28 

Table 4 - Entry 7

H
N

S

Ts

Ph

 

1H NMR (600 MHz, CDCl3) δ 7.75 (d, J = 8.1Hz, 2H), 7.30 (d, J = 8.1 Hz, 2H), 

7.28–7.23 (m, 5H), 5.19 (d, J = 3.0 Hz, 1H), 2.90–2.97 (m, 2H), 2.45 (s, 3H), 

2.31–2.29 (m, 1H), 2.04–2.00 (m, 1H), 1.62–1.57 (m, 2H), 1.44–1.25 (m, 4H). 



 S13 
 

Analytical data for compounds in scheme 3 
 
1-Tetrahydrofuran-2-yl)ethyl acetate(2a)29 

OMe

AcO

H

H
2a

 
1H NMR (300 MHz, CDCl3) δ 4.88–4.96 (m, 1H), 3.74–3.93 (m, 3H), 2.05 (s, 3H), 

1.84–1.97 (m, 3H), 1.66–1.72(m, 1H), 1.23 (d, J = 6.4 Hz, 3H); 13C NMR (75 MHz, 

CDCl3) δ 170.36, 80.59, 72.01, 68.68, 27.35, 25.69, 21.19, 15.74. 

 

2-Methyltetrahydro-2H-pyran-3-yl acetate(2b)29 

O

AcO

Me

H

H

2b

 
1H NMR (300 MHz, CDCl3) δ 4.41–4.49 (m, 1H), 3.87–3.92 (m, 1H), 3.32–3.42 (m, 

2H), 2.05 (s, 3H), 1.65–1.75 (m, 3H), 1.38–1.50 (m, 1H), 1.18 (d, J = 6.1 Hz, 3H); 13C 

NMR (75 MHz, CDCl3) δ 170.18, 75.74, 73.66, 67.53, 29.28, 25.269, 21.11, 18.14. 

 

1-Tetrahydrofuran-2-yl)ethyl acetate(4a)29 

OMe

AcO

H

H
4a

 

1H NMR (400 MHz, CDCl3) δ 4.87 (p, J = 6.4 Hz, 1H), 3.77–3.88 (m, 3H), 2.09 (s, 
3H), 1.88–1.97 (m, 3H), 1.53–1.62(m, 1H), 1.22 (d, J = 6.4 Hz, 3H); 13C NMR (75 
MHz, CDCl3) δ 170.65, 80.70, 72.32, 68.33, 27.99, 25.90, 21.29, 16.56. 
 
Analytical data for compounds in scheme 4 
 
6-Hydroxy-2,2,6-trimethyl-7-(3-oxobutyl)oxepan-3-yl acetate30 

OMe
Me O

AcO OH

6a

H

H

 

1H NMR (600 MHz, CDCl3) δ 4.84 (dd, J = 1.7, 10.8 Hz, 1H), 3.77–3.81 (m, 1H), 

2.39–2.52 (m, 2H), 2.14 (s, 3H), 2.08 (s, 3H), 1.79–1.97 (m, 4H), 1.58–1.64 (m, 2H), 

1.26 (s, 3H), 1.22 (s, 3H), 1.10 (s, 3H); 13C NMR (150 MHz, CDCl3) δ 208.11, 171.04, 



 S14 
 

85.54, 83.70, 76.46, 70.56, 39.60, 34.66, 30.00, 27.70, 25.97, 24.54, 23.62, 22.30, 

21.12..  

1-(5-(2-Hydroxypropan-2-yl)-2-methyltetrahydrofuran-2-yl)-4-oxopentyl acetate 

O
HO

H OAc
O

Me

6b  

1H NMR (600 MHz, CDCl3) δ 4.88 (dd, J = 2.7, 13.1 Hz, 1H), 3.71–3.74 (m, 1H), 

2.42–2.53(m, 2H), 2.14 (s, 3H), 2.08 (s, 3H), 1.80–2.04 (m, 4H), 1.67–1.75 (m, 2H), 

1.20 (s, 3H), 1.20 (s, 3H), 1.11 (s, 3H); 13C NMR (150 MHz, CDCl3) δ 207.84, 170.87, 

87.13, 83.90, 77.37, 70.37, 40.12, 34.70, 29.97, 27.47, 26.05, 24.07, 23.86, 23.01, 

21.08. MS (ES) calc. for C15H26O5Na [MNa]+ 309.1672, found 309.1680. 

References 

1. Yao, Q. Org. Lett. 2002, 4, 2197. 

2. Pelter, A.; Peverall, S.; Pitchfordt, A. Tetrahedron 1996, 52, 1085. 

3. Emmanuvel, L.; Shaikh, T. M. A.; Sudalai, A. Org. Lett. 2005, 7, 5071. 

4. Balskus, E. P.; Mendez-Andino, J.; Arbit, R. M.; Paquette, L. A. J. Org. Chem. 

2001, 66, 6695. 

5. Zhao, G-L.; Dziedzic, P.; Ibrahem, I.; Córdova, A. Synlett 2006, 3521. 

6. Rosenau, T.; Potthast, A.; Kosma, P. Tetrahedron 2002, 58, 9809. 

7. Chenevert, R.; Gagnon, R. J. Org. Chem. 1993, 58, 1054. 

8. Riedl, R.; Tappe, R.; Berkessel, A. J. Am. Chem. Soc. 1998, 120, 8994. 

9. DeShong, P.; Ramesh, S.; Elango, V.; Perez, J. J. Am. Chem. Soc. 1985, 107, 

5219. 

10. Vidari, G.; Giori, A.; Dapiaggi, A.; Lanfranchi, G. Tetrahedron Lett. 1993, 34, 

6925. 



 S15 
 

11. Wang, J. –C.; Hu, S. –H.; Wang, J. –T.; Chen, K. –S.; Chia, Y. –C. J. Sci. Food. 

Agric. 2005, 85, 641. 

12. Fujimatu, E.; Ishikawa, T.; Kitajima, J. Phytochemistry 2003, 63, 609. 

13. Fan, R. -H.; Hou, X. -L. Org. Biomol. Chem. 2003, 1, 1565. 

14. Steiner, D.; Ivison, L.; Goralski, C. T.; Appell, R. B.; Gojkovic, J. R.; Singaram, 

B. Tetrahedron: Asymmetry 2002, 13, 2359. 

15. Bovicelli, P.; Truppa, D.; Sanetti, A.; Bernini, R.; Lupattelli, P. Tetrahedron, 

1998, 54, 14301. 

16. Lupi, V.; Albanese, D.; Landini, D.; Scalettia, D.; Pensob, M. Tetrahedron 2004, 

60, 11709. 

17. Craig, D.; Hylanda, C. J. T.; Wardb, S. E. Chem. Commun. 2005, 3439. 

18. Ingo, S.; Toni, R.; Frank, S.; Werner, B.; Lorenzo, Z.; Carsten, B. J. Org. Chem. 

2006, 71, 2320. 

19. Heesing, A.; Herdering, W.; Henkel, G.; Krebs, B. Chem. Ber. 1983, 116, 1107. 

20. Sammes, P. G. Thetford, D. J. Chem. Soc., Perkin Trans.1 1988, 111. 

21. Das, U.; Crousse, B.; Kesavan, V.; Bonnet-Delpon, D.; Be´gue´, J. -P. J. Org. 

Chem. 2000, 65, 6749. 

22. Foelsche, E.; Hickel, A.; Honig, H.; Wasserthal, P. S. J. Org. Chem. 1990, 55, 

1749. 

23. Chakraborti, A. K.; Rudrawar, S.; Kondaskar, A. Org. Biomol. Chem. 2004, 2, 

1277. 

24. Arndt, H. D.; Ziemer, B.; Koert, U. Org. Lett. 2004, 6, 3269. 

25. Wu, J.; Sun, X. -Y.; Sun, W. Org. Biomol. Chem. 2006, 4, 4231. 

26. Wu, J.; Sun, X. -Y.; Xia, H-G. Eur. J. Org. Chem. 2005, 4769. 

27. Watson, I. D. G.; Yudin, A. K. J. Org. Chem. 2003, 68, 5160. 

28. Fan, R. -H.; Hou, X. -L. J. Org. Chem. 2003, 68, 726. 

29. Coxon, J. M.; Hartshorn, M. P.; Swallow, W. H. Aust. J. Chem. 1973, 26, 2521. 



 S16 
 

30. McDonald, F. E.; Bravo, F.; Wang, X.; Wei, X.-D.; Toganoh, M.; Rodrıíguez, J. 

R.; Do, B.; Neiwert, W. A..; Hardcastle, K. I. J. Org. Chem. 2002, 67, 2515. 

 

 

 

 

 

 

 

 

 

 

 

 

 

1H NMR and 13C NMR spectra of compounds in table 2 

 

 

 

 

 

 

 

 



 S17 
 

1-Phenyl-1, 2-ethanediol 1H NMR 

 

1-Phenyl-1, 2-ethanediol 13C NMR 

 

Table 2 - Entry 1 

Table 2 - Entry 1 



 S18 
 

1-Phenyl-1,2-propanediol( 60:40 mixture of diastereomers threo ：erythro) 1H NMR 

 

1-Phenyl-1,2-propanediol( 60:40 mixture of diastereomers threo ：erythro)  

13C NMR 

 

Table 2 - Entry 2 

Table 2 - Entry 2 



 S19 
 

2-Phenyl-1, 2-propanediol 1H NMR 

 

2-Phenyl-1, 2-propanediol 13C NMR 

 

 

Table 2 - Entry 3 

Table 2 - Entry 3 



 S20 
 

Indane-1, 2 -diol (trans:cis 25:75): 1H NMR 

 

Indane-1, 2 -diol (trans:cis 25:75) 13C NMR 

 

 

Table 2 - Entry 4 

Table 2 - Entry 4 



 S21 
 

1-phenyl-cyclohexane-1, 2-diol (trans:cis 25:75) 1H NMR 

 

1-phenyl-cyclohexane-1, 2-diol (trans:cis 25:75) 13C NMR 
 

 
 

Table 2 - Entry 5 

Table 2 - Entry 5 



 S22 
 

1-phenyl-propane-1, 2, 3-triol (threo：erythro 55：45) 1H NMR 

 
 

1-phenyl-propane-1, 2, 3-triol (threo：erythro 55：45) 13C NMR 
 

 

 

Table 2 - Entry 6 

Table 2 - Entry 6 



 S23 
 

2-Chloro-propan-1, 2-diol: 1H NMR 

 
 

2-Chloro-propan-1, 2-diol: 13C NMR 

 

 

Table 2 - Entry 7 

Table 2 - Entry 7 



 S24 
 

1-O-Butylglycerol: 1H NMR 

 

1-O-Butylglycerol: 13C NMR 

 
 

 

Table 2 - Entry 8 

Table 2 - Entry 8 



 S25 
 

1, 2, 11-Undecanetriol: 1H NMR 

 

 

1, 2, 11-Undecanetriol: 13C NMR 

 

Table 2 – Entry 9 

Table 2 – Entry 9 



 S26 
 

3, 7-dimethyl-1,6,7-otanetriol: 1H NMR 

 

 

3, 7-dimethyl-1,6,7-otanetriol:13C NMR 

 
 

Table 2 – Entry 10 

Table 2 – Entry 10 



 S27 
 

6, 7-dihydroxy-3, 7-dimethyloctyl acetate: 1H NMR 

 

 

6, 7-dihydroxy-3, 7-dimethyloctyl acetate: 13C NMR 

 

Table 2 – Entry 11 

Table 2 – Entry 11 



 S28 
 

Butane-1, 2, 3, 4-tetraol: 1H NMR 

 
 

Butane-1, 2, 3, 4-tetraol: 13C NMR 

 
 

Table 2 – Entry 12 

Table 2 – Entry 12 



 S29 
 

Butane-1, 2, 3-triol: 1H NMR 

 

 

Butane-1, 2, 3-triol: 13C NMR 

 
 

Table 2 – Entry 13 

Table 2 – Entry 13 



 S30 
 

Glycerin: 1H NMR 

 

 

Glycerin: 13C NMR 

 

Table 2 – Entry 14 

Table 2 – Entry 14



 S31 
 

trans-1,2-Cyclopentanediol 1H NMR 

 

 

trans-1,2-Cyclopentanediol 13C NMR 

 
 

Table 2 – Entry 15

Table 2 – Entry 15



 S32 
 

trans-1, 2-Cyclohexanediol: 1H NMR 

 

 

trans-1, 2-Cyclohexanediol: 13C NMR 

 

 

Table 2 – Entry 16

Table 2 – Entry 16



 S33 
 

(1S,2S,4R)-1-methyl-4-(prop-1-en-2-yl)cyclohexane-1,2-diol: 1H NMR 

 
 

(1S,2S,4R)-1-methyl-4-(prop-1-en-2-yl)cyclohexane-1,2-diol: 13C NMR 

 
 

Table 2 – Entry 17

Table 2 – Entry 17



 S34 
 

trans-2, 3-Dihydroxy-cyclohexanone: 1H NMR 

 
 

 

trans-2, 3-Dihydroxy-cyclohexanone: 13C NMR 

 

Table 2 – Entry 18

Table 2 – Entry 18



 S35 
 

1H NMR and 13C NMR spectra of compounds in table 3 

2-(N-Tosylamino)-1-phenyl-1-ethanol: 1H NMR 

 

 

2-(N-Tosylamino)-1-phenyl-1-ethanol: 13C NMR 

 

Table 3 – Entry 1 

Table 3 – Entry 1 



 S36 
 

1-(Tosylamino)-2-hexanol (70%) and 2-(Tosylamino)-1-hexanol (30%): 1H NMR 

 
 
 

1-(Tosylamino)-2-hexanol (70%) and 2-(Tosylamino)-1-hexanol (30%): 13C NMR 

 

 

Table 3 – Entry 2 

Table 3 – Entry 2 



 S37

trans- 2-(N-Tosylamino)-1-cyclohexanol: 1H NMR 

 

 

 

trans- 2-(N-Tosylamino)-1-cyclohexanol: 13C NMR 

 

Table 3 – Entry 3 

Table 3 – Entry 3 



 S38

trans- 2-(N-Tosylamino)-1-cyclopentanol: 1H NMR 

 
 

trans- 2-(N-Tosylamino)-1-cyclopentanol: 13C NMR 

 
 

Table 3 – Entry 4 

Table 3 – Entry 4 



 S39

trans- 2-(N-Phenylcarbonylamino)-1-cyclohexanol: 1H NMR 

 
 
 

trans- 2-(N-Phenylcarbonylamino)-1-cyclohexanol: 13C NMR 

 
 

Table 3 – Entry 5 

Table 3 – Entry 5 



 S40

1H NMR and 13C NMR spectra of compounds in table 4 

2-phenyl-2-(phenylamino)ethanol 1HNMR 

 
 

2-phenyl-2-(phenylamino)ethanol 13CNMR 

 

Table 4 – Entry 1 

Table 4 – Entry 1 



 S41

2-azido-2-phenylethanol 1HNMR 

 
 
 

2-azido-2-phenylethanol 13CNMR 

 

Table 4 – Entry 2 

Table 4 – Entry 2 



 S42

2-(phenylamino)cyclohexanol 1H-NMR 
 

 

 
2-azidocyclohexanol 1H-NMR 

 

Table 4 – Entry 3 

Table 4 – Entry 4 



 S43

4-methyl-N-(2-(phenylamino)cyclohexyl)benzenesulfonamide 1HNMR 

 
 
 

4-methyl-N-(2-(phenylamino)cyclohexyl)benzenesulfonamide 13CNMR 

Table 4 – Entry 5 

Table 4 – Entry 5 



 S44

 N-(2-azidocyclohexyl)-4-methylbenzenesulfonamide 1HNMR 

 
 
 

N-(2-azidocyclohexyl)-4-methylbenzenesulfonamide 13CNMR 

 

Table 4 – Entry 6 

Table 4 – Entry 6 



 S45

N-(2-(benzylamino)cyclohexyl)-4-methylbenzenesulfonamide 1HNMR 

 
 
 

N-(2-(benzylamino)cyclohexyl)-4-methylbenzenesulfonamide 13CNMR 

 

Table 4 – Entry 8 

Table 4 – Entry 8 



 S46

N-(2-Phenylthiocyclohexyl)-4-methylbenzenesulfonamide 1H NMR 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1H NMR and 13C NMR spectra of compounds in scheme 3 

Table 4 – Entry 7 



 S47

1-Tetrahydrofuran-2-ylethyl acetate(2a): 1H NMR 

 
 
 

1-Tetrahydrofuran-2-ylethyl acetate(2a): 13C NMR 

 

2a

2a



 S48

2-Methyltetrahydro-2H-pyran-3-yl acetate(2b): 1H NMR 

 

 
 

2-Methyltetrahydro-2H-pyran-3-yl acetate(2 b): 13C NMR 

 

2 b 

2 b



 S49

1-Tetrahydrofuran-2-yl)ethyl acetate(4a) : 1H NMR 

 
 
 

1-Tetrahydrofuran-2-yl)ethyl acetate(4a) : 13C NMR 

 

4 a

4 a



 S50

1H NMR and 13C NMR spectra of compounds in scheme 4 

6-Hydroxy-2,2,6-trimethyl-7-(3-oxobutyl)oxepan-3-yl acetate;  1H NMR 

 

6-Hydroxy-2,2,6-trimethyl-7-(3-oxobutyl)oxepan-3-yl acetate; 13C NMR 

 

6a

6a



 S51

1-(5-(2-Hydroxypropan-2-yl)-2-methyltetrahydrofuran-2-yl)-4-oxopentyl acetate 

 

1-(5-(2-Hydroxypropan-2-yl)-2-methyltetrahydrofuran-2-yl)-4-oxopentyl acetate 
13C NMR 

 

 

6b

6b


